
P2 : 4 · k2 · y4 − 4 · k3 · y2 + k4 + d41 · d42 + 2 · k4 ·m2
2 + k4 ·m4

2 + d41 · y4 + d42 · y4−
4 · d21 · k · y4 − 4 · d22 · k · y4 − 2 · d21 · d22 · k2 + 2 · d21 · d22 · y4 − 2 · d21 · d42 · y2−
2 · d41 · d22 · y2 + 2 · d21 · k2 · y2 + 2 · d22 · k2 · y2 + d41 ·m4

2 · x4 + 2 · d42 ·m2
2 · y4+

d42 ·m4
2 · y4 − 4 · k3 ·m2

2 · y2 + 4 · k2 ·m2
2 · y4 + 4 · d21 · d22 · k · y2−

4 · d22 · k ·m2
2 · y4 − 4 · d41 ·m3

2 · x3 · y − 8 · k2 ·m3
2 · x · y3 − 2 · d21 · d22 · k2 ·m2

2+

4 · k3 ·m2 · x · y − 2 · d41 · d22 ·m2
2 · x2 − 2 · d21 · d22 ·m2

2 · y4 − 2 · d21 · d42 ·m2
2 · y2+

2 · d21 · k2 ·m2
2 · x2 − 2 · d21 · k2 ·m4

2 · x2 − 2 · d21 · k2 ·m2
2 · y2 − 2 · d22 · k2 ·m4

2 · y2+
6 · d41 ·m2

2 · x2 · y2 + 4 · k2 ·m2
2 · x2 · y2 + 4 · k2 ·m4

2 · x2 · y2 − 4 · d41 ·m2 · x · y3−
8 · k2 ·m2 · x · y3 + 4 · k3 ·m3

2 · x · y + 4 · d21 · d22 ·m3
2 · x · y3 − 12 · d21 · k ·m2

2 · x2 · y2+
4 · d41 · d22 ·m2 · x · y − 4 · d21 · k2 ·m2 · x · y + 12 · d21 · k ·m2 · x · y3+
4 · d22 · k ·m2 · x · y3 + 2 · d21 · d22 ·m2

2 · x2 · y2 − 2 · d21 · d22 ·m4
2 · x2 · y2−

4 · d21 · d22 ·m2 · x · y3 + 4 · d21 · k2 ·m3
2 · x · y + 4 · d21 · k ·m3

2 · x3 · y+
4 · d22 · k ·m3

2 · x · y3 + 8 · d21 · d22 · k ·m2
2 · y2 − 8 · d21 · d22 · k ·m3

2 · x · y−
4 · d21 · d22 · k ·m2 · x · y

= (A1 · x2 +B1 · y2 + C1 · x · y +D1) · (A2 · x2 +B2 · y2 + C2 · x · y +D2)

Let e =
√
d21 · d22 − k2.

A1 = d21 ·m2
2

B1 = d21 + d22 − 2 · k + d22 ·m2
2 + 2 ·m2 · e

C1 = 2 ·m2 · (k − d21 −m2 · e)
D1 = k2 − d21 · d22 − k2 ·m2

2 − 2 · k ·m2 · e

A2 = d21 ·m2
2

B2 = d21 − 2 · k + d22 + d22 ·m2
2 − 2 ·m2 · e

C2 = 2 ·m2 · (k − d21 +m2 · e)
D2 = k2 − d21 · d22 − k2 ·m2

2 + 2 · k ·m2 · e


